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B =0 A Usl
ool sgUSsA & ASSY (Gt H2)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
SYE ML 127,229,414 119,104,495 8,124,919
= 7,651,784
Il 70,113,679
= 11,134,801
Al 38,109,150
CH 220,000
s I gt 127,189,504 119,025,855 8,163,649
= 7,651,784
Il 70,113,679
== 11,134,801
Al 38,069,240
CH 220,000
sHeI=A & ~Sey 6,395,580 4,626,826 1,768,754
= 1,982,028
Al 4,413,552
sgdzgge=d 1,274,660 426,976 847,684
101 eI24d| 47,009 39,024 7,985
04 JIZtN2Z2XNSE+ 47,009 39,024 7,985
OFA2e|2E 212i| 47,009
OEAMEE| S JIZH22A B
5,680,000 5,680
O7UAY xelZ & JIZN2E2N 2=
41,329,000 41,329
201 L= 262,797 211,892 50,905
01 At 2|l 112,955 89,050 23,905
Ot ==H] 40,585
O HRFA 5,000,000& 5,000
Oztz4l Hidl ee 250,000& 122 3,000
OARES 78 5,000,000& 5,000
O AL EeH &Y ¢
5,000,000& 5,000
Oztaal 2|83 728 3,000,000& 3,000
oaZa ARE Y 3,000,000& 3,000
O=2HIE 018 =2 500,000 500
OFA2Zel 225 7 4,000,000& 4,000
oalg A28 FU(MIIF HMF S)
8,000,000& 8,000
ORQICIALZI| AIRES 7 (EH, 88X
s) 1,000,000 1,000
OFAM &= & &4 3,085,000 3,085
O=3+g 3,920
OsgsE & Asaad®yosy
70,0002 «28H 23] 3,920
Ol =4 200
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I =Y AMA Ug
ool sgUSsA & ASSY (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OsLIISHE A8 B4 S
40,000,000 40,000
OsIISHE 3HE FH S A
30,000,000 30,000
OsLIISHE WRSZL A
800,000,0002 800,000
405 XA SH 70,000 70,000
01 AL SEF SH 70,000 70,000
OsIISHE 22U 7
70,000,000 70,000
SIHER0IX A (BX) 29,160 28,350 810
= 8,100
Al 21,060
301 YeHEHIB 29,160 28,350 810
= 8,100
Al 21,060
14 JIEr2 A2 29,160 28,350 810
OsItE20] XA 29,160,000 29,160
= 8,100
Al 21,060
HsT20| SRS X (2X) 7,560 10,800 A3,240
== 2,268
Al 5,20
301 YEHEHIB 7,560 10,800 3,240
= 2,268
Al 5,29
14 JIEr2 A2 7.560 10,800 3,240
00| SHRYZ ALY
7,560,000 7,560
= 2,268
Al 5,292
S0l X2 MAHEE XA(EX) 3,920,000 2,940,000 980,000
== 1,680,000
Al 2,240,000
301 YEHBHI 3,920,000 2,940,000 980,000
= 1,680,000
Al 2,240,000
14 JIEr2 A2 3,920,000 2,940,000 980,000
SX2 Moll2E S22 N
3,920,000,0002 3,920,000
= 1,680,000
Al 2,240,000
=0l OHMEE SIIRES XM (EX) 282,000 282,000 0
== 84,600
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SYIE L
=0 2 s
sgel=El € A58y EER=E)
SN - ZB - C9(B) - MRAY - BES il &k e HlmS2
O0iE =0 S22
10,000,000& 10,000
ASAE MAD|EE EHE 5,858,120 13,067,459 27,209,339
= 2,411,600
& 1,487,804
Al 1,958,716
SEQAIN USHEE KA (BX) 189,000 108,000 81,000
= 105,000
= 25,200
Al 58,800
307 QI2H0| A 189,000 108,000 81,000
= 105,000
= 25,200
Al 58,800
02 QIR AAIEE R 189,000 108,000 81,000
Os=2YN ALY X
189,000,000& 189,000
= 105,000
& 25,200
Al 58,800
SEAGH A& XA (EX) 900,000 364,500 535,500
= 500,000
= 120,000
Al 280,000
402 CI2ER=0l A 900,000 364,500 535,500
= 500,000
& 120,000
Al 280,000
02 QIZEXHE A B X (01 MTHE) 900,000 364,500 535,500
OSE2ZM AIEEHl XF At
900,000,000& 900,000
= 500,000
& 120,000
Al 280,000
= Et&E HX3 s A48 A Bx) 540,000 378,000 162,000
= 300,000
& 72,000
Al 168,000
307 QI2Hol ™ 540,000 378,000 162,000
= 300,000
& 72,000
Al 168,000
02 QIRHH LA B X 540,000 378,000 162,000
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SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
O= EIRE o5 ns AL A2 A
540,000,000 540,000
= 300,000
= 72,000
Al 168,000
= B2 Xist AIEZH| XA (EX) 1,800,000 2,140,200 340,200
= 1,000,000
= 240,000
Al 560,000
402 DIZFXH=0I A 1,800,000 2,140,200 340,200
=2 1,000,000
= 240,000
Al 560,000
(2 DIIH= AL S E (OIFTHER ) 1,800,000 2,140,200 340,200
O= EIRS SIS ALEH TR A
1,800,000,00024 1,800,000
=2 1,000,000
= 240,000
Al 560,000
2AIY MACHT] FRX R4 DALY AR 204,480 279,000 AT4,520
=)
= 113,600
= 27,264
Al 63,616
307 D120 204,480 279,000 AT4,520
3 113,600
& 27,264
Al 63,616
2 QIRFAAAIRIEE 204,480 279,000 AT4,520
024 MACH] YT SH DS el
NN 204,480,000 204,480
23 113,600
= 27,264
Al 63,616
2N MACHT ZAT S8 AIEEH UAL(EX) 214,200 514,800 A300,600
2 119,000
= 28,560
Al 66,640
402 DIZFXHE0| A 214,200 514,800 300,600
2 119,000
= 28,560
Al 66,640
2 IFRZAIRI 2 E (OIF ) 214,200 514,800 A300,600
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O=0t2 MAX] ZBEH S4 Al2&dl X
2 A 214,200,000& 214,200
= 119,000
[ 28,560
Al 66,640
JtSa AT nsALE XA 133,200 162,000 /28,800
= 74,000
& 17,760
Al 41,440
307 glztol & 133,200 162,000 /28,800
= 74,000
s 17,760
Al 41,440
02 LB AANHEE 133,200 162,000 /28,800
OJt=4 AT nsAZE X3 A
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= 74,000
=S 17,760
Al 41,440
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= 200,000
=S 48,000
Al 112,000
402 2I2F X201 & 360,000 1,314,000 954,000
= 200,000
= 48,000
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02 QI XHZ AL E R (01X THE) 360,000 1,314,000 954,000
OJI242 MAET] AIZEHl X3 A
360,000,000 360,000
= 200,000
= 48,000
Al 112,000
LASNS(=EHE) ZEH MOAL(EX)(HEAY 451,200 151,200 300,000
)
< 376,000
Al 75,200
307 212+01& 27,600 31,200 23,600
& 23,000
Al 4,600
02 2IZHBHAIHE £ 27,600 31,200 A3,600
ORYBNH=3) WSE N
27,600,000& 27,600
= 23,000
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B =0 A As)
el setE 2dl RS 3dY LS (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ONEHY GX HS=0 HI2 X2
861,000,000& 861,000
402 2IZtA=01d 250,000 250,000
01 QI XHZ AL E (KM THE) 250,000 250,000
OXgdy MBS N3 A
250,000,000 250,000
ANEH zetFd 2 |59 81,375 18,375 63,000
301 2eEN= 63,000 0 63,000
14 JIEt2 8= 63,000 0 63,000
OXE & S AIHEX Heig N
63,000,000 63,000
402 2I2F X201 & 18,375 18,375
01 QI XHZ AL E R (KEHITHE) 18,375 18,375
OXgd a3y S NFA
3,375,000& 3,375
OX8d zietady THI XA
15,000,000 15,000
Fka2te I (XIXHM) KR (EX) 10,032 13,933 23,901
= 10,032
201 et 3| 8,032 11,933 A3,901
= 8,032
01 At2teltl 8,032 11,933 A3,901
0= 6,632
OZ2Az 20 7¢ 200,000& 200
= 200
OXSUT olFER Q8 MY KX
1,500,000 1,500
= 1,500
OFRYR 2HSE 7Y
3,532,000& 3,532
= 3,532
ozt M=)t €5 &l 1,400,000& 1,400
= 1,400
O=¢g| 1,400,000 1,400
= 1,400
202 04| 2,000 2,000 0
= 2,000
01 =LHNHI 2,000 2,000 0
OIRY=R2A| ZRFA 2,000,000 2,000
= 2,000
FExnue| IXW MEH(2X) 178,500 135,200 43,300
= 178,500
206 M=Hl 178,500 135,200 43,300
= 178,500
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B =0 A Usl
el =8 MY 54 A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
sdd &g 4 € N2 11,249,291 7,425,849 3,823,442
= 3,191,629
== 1,153,528
Al 6,904,134
sdd g% =4 21,700 21,700
201 2egh=3| 20,700 20,700
01 At2t2ltl 20,700 20,700
O =ZH| 19,700
OS54 YRR 3,500,002 3,500
OSIITHIR XA AIRZAF A=Y
16,200,000& 16,200
O=¢&H| 1,000
Osdg g4 1,000,000 1,000
202 04l 1,000 1,000
01 =LHA LI 1,000 1,000
Osdg ge2=a 1,000,000& 1,000
EAMEH K& (2x) 1,756,391 1,722,149 34,242
= 1,159,227
= 298,582
Al 298,582
402 212t X+=01 & 1,756,391 1,722,149 34,242
= 1,159,227
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02 QI X2 AL EE(OIETHE) 1,756,391 1,722,149 34,242
OSHEN XA A
1,756,391,000& 1,756,391
= 1,159,227
< 298,582
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HIE JtHE XA (EX) 4,058,006 3,926,700 131,306
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= 405,803
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307 gl2to| & 4,068,006 0 4,058,006
= 2,029,002
= 405,803
Al 1,623,201
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SN SYEH
B =0 A Usl
el =8 MY 54 A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 140,000
301 EtE NS 200,000 200,000
=S 60,000
Al 140,000
14 0Bt 2as 200,000 200,000
OgsRits 28 QWE=E XA
200,000,000 200,000
< 60,000
Al 140,000
SIAE BA= It XA 971,750 971,750
= 291,525
Al 680,225
301 EtE NS 971,750 971,750
=S 291,625
Al 680,225
14 0Bt 2a3 971,750 971,750
O IHE BAIR HEAEXE A
971,750,000 971,750
< 291,525
Al 680,225
A0k FTALHS 2,100,000 2,100,000
402 QIF X201 & 2,100,000 2,100,000
01 QI X2 AL E A (KEHITHE) 2,100,000 2,100,000
OAE512 TR Mg 500,000, 0002 500,000
O2TIZIE 4E N AR
1,600,000,000& 1,600,000
s9=& FENES(EX) 61,944 61,944
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